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Nom: Date: Note:
2,232 x 1000000 = 5,909 x 10000 =
4,09 x 10 = 5,379 x 10000 =
6,914 x 1000 = 9, 17 x 100000 =
5,219 x 10 = 8, 854 x 1000000 =
9,405 x 10000 = 6, 606 < 1000000 =
8,026 x 1000 = 7,638 x 100000 =
10,333 x 1000 = 10, 62 x 10000 =
3,274 x 10 = 8,478 x 100000 =
1, 288 x 1000000 = 3,106 x 10000 =
3,018 x 1000 = 1,089 x 1000 =
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Nom: Date: Note:

2,232 x 1000000 = 2232000 5,909 x 10000 = 59090
4,09 x 10 =40.9 5,379 x 10000 = 53790
6,914 x 1000 = 6914 9, 17 x 100000 = 917000
5,219 x 10 =52.19 8, 854 x 1000000 = 8854000
9,405 x 10000 = 94050 6, 606 x 1000000 = 6606000
8,026 x 1000 = 8026 7,638 x 100000 = 763800
10,333 x 1000 = 10333 10, 62 x 10000 = 106200
3,274 x 10 =32.74 8,478 x 100000 = 847800
1,288 x 1000000 = 1288000 3, 106 x 10000 = 31060
3,018 x 1000 = 3018 1,089 x 1000 = 1089
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